L1.MASS Analyse 2008/2009

Corrigé de la feuille de TD 6

Exercice 1.
Exercice 2.
Exercice 3.

Exercice 4. La notation “0” désigne un négligeable au voisinage de 0. On a

sinz _ x—a?/64+2°/120+0(2") _ 1, bty o(z*).
. " 6" 120

En conséquence
x 1
sinz 1 —22/6+ 24/120 + o(x4)
=1+ (2%/6 — 2*/120 + o(z*)) + (2 /6 — 2* /120 + o(z*))? + 0 ((2®/6 — z* /120 + o(z*))?)
=1+22/6 — 2" /120 4 o(z?) + 2*/36 + o(z*) + o(z?)

1 7
=1+ 6:102 + %x‘l + o(z).

De méme,
2
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(g2 4 4\\2
sin® x (1+ 6x + 36056 +o(2%)

1 1\* 7
— 49t ,2 < YL 4
+ 52 +<<6> + 360>x + o(z")

1 31
=1+ §x2 + %x‘l + o(z*).
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